Downs and Black checklist (JECH 1998;52:377-384)
Question 27: Power

This is in essence similar to a power calculation.

1. Decide on what constitutes a clinically or socially significant difference between the two groups being compared  (eg difference in desired outcome 60% versus 50% success)

2. Select a probability value for such a difference – we suggest 5% as commonly accepted value.

3. Select a range of study powers against which you want to assess papers. These are represented as A to F in Question 27. For example, A=70%, B=80%, C=85%, D=90%, E=95%, F=99%.

4. You can now determine the number of subjects that would need to be in the smallest group (though the likelihood is there will be the same number in all groups in the study in question). These are designated as n1 to n8. These can be derived from standard software for calculating sample sizes for randomised trials.
5. Now you can use Question 27 to assess the power of all the studies being assessed by applying the number of subjects in the smallest group to the table and the right-hand column gives you the value (from 0 to 5).

6. Warning: this approach may overestimate the power of non-randomised trials (prospective cohort studies) but there is no simple, alternative method available at present. 
